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S IR

M DIRWE 2

el QIFSEIAEIA HS (EEREED)
RN B - SRA(SIH) - AIRAR - BAS 0f v e HDE
ORIEXel OtZelXl =X Al4
1,500,000& 22| 3,000
OXESRE 2Y 2,000,000& 13l 2,000
308 AxIMS0IE 17.860 17,860
13 SIS EASAIEHI 17,860 17,860
OXNU FRUSSEEAAY KRAE4HI
17,860,000 * 14| 17,860
405 AbatESH 9,000 0 9,000
01 It =S F S 9,000 0 9,000
O2HIY AEE TPIsQl S| 2
1,000,000 *9CH 9,000
SEA &2 2¢ 39,336 40,056 AT20
201 B2 39,336 40,056 AT20
02 3224l 39,336 40,056 ANT20
osssgeEs)l 72
71,5002 12CH+ 122 10,29
ORAURLI| RX 24
145,000 x120H* 123 20,880
ORI BlAY RX24
110,000&x12& 1,320
ORQICIALZI| ARTEIHZ
190,000 +3CH=12& 6.840
IIEAAHSSAR X 15,897 15,419 478
= 15,897
201 fErH=2E 12,417 12,119 298
= 12,417
01 At2teltl 12,417 12,119 298
OJEZH SEANR A28 7
12,417,000 *14] 12,417
= 12,417
202 04| 3,480 3,300 180
= 3,480
01 201 3,480 3.300 180
OINFBH SEAR EF
580,000 6 E 2 3,480
= 3,480
oz 22 10,015 10,029 A4
= 10,015
201 LB 10,015 10,029 N14
= 10,015
01 At2reltl 9,751 9,765 N14
oYz AR2el 9,751,000+ 141 9,751
= 9,751
02 S3=24Hl 264 264 0
OlHEes dE dd=z 22,0008 x 122 264
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SN BoIIRA

M DIRWT 2

el QIFSEIAEIA HS (EEREED)
SA - B CORI(SH) - HISAY - BaS 01l b e HID 2t
[ ]] = 264
AFYE 29 17,600 107,600 A90,000
A=Y 2 17,600 107,600 A90,000
ARSI &l APOHEH 4,000 80,000 276,000
301 LPENF 4,000 80,000 276,000
14 JIEtE A2 4,000 80,000 76,000
OASFI} HOIR (HL4E
300,000& *10&] 3,000
OABAD HOIYD (fEasE
100,000& * 102! 1,000
Az 13,600 27,600 A14,000
201 B2 3| 10,000 13,600 N3,600
01 AR2t2ldl 10,000 13,600 A3,600
OXLAEAE| AL
100,000 *10E*83] 8,000
0ATD AR AHBAHI
2,000,000 *12] 2,000
202 Ot 3,600 4,000 2400
01 =W 38l 3,600 4,000 A400
OREtHFZE N .t & 0ld2ZNZ =
20,0003 x4 H +453] 3,600
=INIL =N 19,290 22,000 A2,710
SXoHeztel 19,290 22,000 N2,710
SK g 2el 19,290 22,000 N2,710
201 23| 14,790 17,000 N2,210
01 At 22| 14,790 17,000 22,210
OBHNBEN SYyaL2
500,000 93] 4,500
OZHMLHS SY+4T
500,000 +93! 4,500
OMLHS BHLIAS FHLY
70,0003 *9H +53] 3,150
OYSFFAE SAD| dX=
220,000& * 12012 2,640
202 0441 4,500 5,000 A500
01 =LHGA bl 4,500 5,000 AB00
QLRSI HE=EH NI
20,0003 *3H *453] 2,700
O=sX&EE5IF SEEH0MYI
20,0003 x2H +453] 1,800
&K 2el 16,200 93,000 AT76,800
AKX R 16,200 23,000 6,800
A JgE e 2el 16,200 23,000 A\6,800
201 LBt 3| 1,000 0 1,000
01 At 22| 1,000 0 1,000
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SN BRI
mE: A% 2
SHel: AR O

SA - B CORI(SH) - HISAY - BaS 01l b e HID 2t
OABHIBY B2UH +42
1,000,000 124 1,000
202 (44| 1,800 3,000 A1,200
01 =UGdBI 1,800 3,000 A1,200
OUTIHEX HEH i
20,0003 *3F*303] 1,800
207 AR 10,000 10,000
02 HADHEY] 10,000 10,000
OUXITE KIS SK 2
10,000,000 & 14 10,000
401 AIEHIZ2OHb] 3,400 10,000 6,600
01 AlEYI 3,400 10,000 26,600
OEAMAKXN ZR0|H 24|
3,400,000&*121 3,400
NEETIBIEEE 1,445,002 1,791,653 346,561
. 170,265
= 1,274,827
K& zel 86,076 194,700 A 108,624
= 700
o 85,376
EXNSE 22 12,576 30,000 N17,424
201 -2 AY| 9,876 26,400 A16,524
01 AR22ld] 9,876 26,400 A16,524
OSEANSHFY (SREAX) EXNEL
300,000 = 15E X| 4,500
OXEZBRELEEH| 30,0002 x100& X 3,000
OYEFFEE SAD| IX2
198,000 = 1201 & 2,376
202 O 2,700 3,600 A900
01 =LHOiH| 2,700 3,600 A900
OXIEHR SXIZAL GiH|
10,0002 *x35 903 2,700
NEFSI|EE 22 73,500 124,700 Ab1,200
= 700
o 72,800
201 LBr29H| 51,800 103,000 251,200
01 At 22| 51,800 103,000 Ab1,200
OXEZ=IEE M4
50,000,000 *14] 50,000
OERXIOISZAM H2IH 2
60,0002 *30H 1,800
202 04| 700 700 0
= 700
01 =LHOAH| 700 700 0
OGPS &AIZZEA 2e| 700,000 14 700
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A EC BIGIEIN
M NESHE D|gryst
el K& 2t (o=
SA - B CORI(SH) - HISAY - BaS 01l b e HImE2
= 700
308 AHXIHMSO0I S 21,000 21,000
13 BI 2SS B3 A ELAEALS I 21,000 21,000
OXHIIZEE LHEAL A2l
12,0002 *1,7508 21,000
NEFE 22| 209,267 169,747 39,520
= 38,500
= 170,767
HESAIXIOF ZAF 2 77,000 77,000 0
= 38,500
o 38,500
201 LBt2 3| 76,000 76,000
= 38,000
= 38,000
01 A22t2ld] 76,000 76,000 0
OMEBAIXIO} 2B242
45,800% *102,807E Xl *1.4% 65,920
2 3,960
2 3,960
OSSINATAIIRS BMa
70,0002 112 %43 3,080
2 1,540
2 1,540
OBAIXI} 22 2|
3,000,000 14! 3,000
= 1,500
i 1,500
O3AIXIF S8 & 012IE EE
4,000,000 *14] 4,000
= 2,000
= 2,000
202 ot 1,000 1,000
= 500
= 500
01 =W G bl 1,000 1,000
OMLBAIIIL EXISHTA
20,0003« 15 +503] 1,000
= 500
o 500
NEFE 2% 22 112,267 72,747 39,520
201 23| 75,997 45,547 30,450
01 At 22l 2,850 210 2,640
XY BA 42
70,0003 +*3H *13] 210
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2N
X ZH -
(=

SCE

GlotEIR A
X Dletdst
NEZE 2e|

SA - B CORI(SH) - HISAY - BaS 01l b e HID 2t
OYRFLE SAPD| itz
220,000& =120 & 2,640
02 222t 73,147 45,337 27,810
ORSNIEESRAIAE L XSIANE2EE
ANAE X2 65,791,000 *14] 65,791
OFXNEH SAAH SANES
65,000 «7CH* 123 5,460
OXEMD 25| RAES
158,000 * 123 1,8%
202 04dl 1,200 3,200 A2,000
01 =LHGAHI 1,200 3,200 A2,000
(OENEE ]| 100,000& *1Z*43| 400
OSBHE Fa U XYL FIEA
20,0003 *2Z*203] 800
207 AR 22,000 22,000
02 HADHE| 22,000 22,000
OsRNAHIISE Hute 25
22,000,000 *14] 22,000
303 Z&= 1,000 2,000 21,000
01 ZA&2 1,000 2,000 1,000
ORSMNHUAD TN
500,000 224 1,000
405 KHHE SHI 12,070 12,070
01 ML =EFHSHI 12,070 12,070
OMATH QRIS AIAE FHHI P2
12,070,000& *1CH 12,070
hgSeE=s 2t 2Y 20,000 20,000 0
201 et HH| 20,000 20,000
01 Ar2teltl 20,000 20,000
ORI EA =22
1,000,000& * 154 15,000
OB=ANERI BE =&
50,0003 *100E X 5,000
HEAAY =R 127,174 107,440 19,734
C2Y 2 HEUYS 2 127,174 107,440 19,734
201 Let2AH| 2,780 4,280 21,500
01 AR2t2|dl 560 3,560 A3,000
OE2HFARR &Y
70,0002 +8E 13| 560
02 332gt| 2,220 720 1,500
OS2 FA EEXZA HYD| SaZ
20,0002 «3CH* 123 720
oREYSE 23 250,000 x6& 1,500
308 AEXISHAMSOIH 74,3% 56,160 18,234
13 S| 2SI USHE A X REFAIS I 74,394 56,160 18,234
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2N

X‘liH:

310101 Al
NEHAH J|grdst

ool MEAANY = (o A2
SA - B S9I(SH) - HEA - 0f v e HIDE2
OFAZE222AAE XHAN 2= & |
22| 53,727, 0002 14! 53,727
OYUHFA 7E U FAFRIIZE SNB
cl 20,667,000 * 14 20,667
401 AIZHIL 2 0HY| 50,000 47,000 3,000
01 Al&HI 50,000 47,000 3,000
OFAEEANE 21 & RA2F
40,000,000 *14] 40,000
OFAZFAIE LHEAL ES
10,000, 000& * 14| 10,000
SUHEE AY Fd 768,120 912,800 144,680
XNotAlEdE &Matst At 64,120 40,800 23,320
201 Ler2d| 41,800 39,800 2,000
2 3523l 41,800 39,800 2,000
OSUESSF2IANAE RS+
41,800,000 * 14! 41,800
202 048l 320 1,000 A680
01 =W ALl 320 1,000 A680
OXISAIEE Hatst HE XA
20,0002 «2H +83] 320
207 A=He 11,320 11,320
02 HA&HHE| 11,320 11,320
OXISAIEE ESAIAE 2=
11,320,000 * 14! 11,320
405 AtotESH 10,680 10,680
01 AU =ZFSHI 10,680 10,680
OXISHAIEE EEANAYE 2otEHl 71
10,680,000 * 14! 10,680
C2 2 XGIAIEE Hata SHFANY (B) 704,000 872,000 /168,000
207 Aol 704,000 872,000 168,000
02 MAPHZH 704,000 872,000 168,000
O=Z A XISHAIEES HAtst SHAAI ()
704,000,000 * 14 704,000
K= THZEAAL 254,455 406,966 A152,511
= 131,065
= 123,390
NETHEALALY =& 131,065 164,326 N\33,261
= 131,065
201 ErH=2E| 8,767 11,125 N2,358
= 8,767
01 AtR2t2lBl 8,767 11,125 N2,358
OXHTHEAALY F=E(22H])
6,241,000& 14! 6,241
= 6,241
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2N

X‘liH:

GlotEIR A
X Dletdst

ohel: MR THEARARY (crel:=g)
SA - B CORI(SH) - HISAY - BaS 01l b e HID 2t
OXETHEAAIY FE(OIEEZSHI)
2,526,000 * 14 2,526
= 2,526
308 AHXISHHMSO0I A 122,298 153,201 30,903
= 122,298
13 SIS B A AEAISHI 122,298 153,201 A30,903
OXIETHEAALY FE(SEH])
122,298,000 *14] 122,298
= 122,298
NETHZEALALS 2t2] 123,390 242,640 A119,250
201 B2 3| 19,550 38,800 A19,250
01 At22eldl 14,750 31,300 A 16,550
OXEZ & ZHEI =2
50,0002 *200E! X|*1JH A 10,000
OXIETHEAL JIEE &I
50,0002 x15& 750
OBHZHARZ L XNETHTZAIRI2Z &4
=g 70,0002 x5 *43| 1,400
OXEMEAIZEZS 5002 x800 2,000
OXIEMEAL FLILHS| 2|
600,000 14 600
02 32| 4,800 7,500 N2, 700
ORELUERS 400,000+ 12& 4,800
202 0441 3,840 3,840
01 =LHOBI 3,840 3,840
OXEMEA SOUMET U BHEO| 43
20,0003 *4B 43|+ 12& 3,840
301 LEENF 100,000 200,000 A 100,000
14 JIEt2 &= 100,000 200,000 /A\100,000
(OUNESPUENNENPST=, 100,000, 000& * 14! 100,000
HE2HZHI(SII2IAA) 266,693 336,133 69,440
olE2I| 168,981 207,197 A38,216
I 2| (33 4) 168,981 207,197 N\38,216
101 2124 8| 168,981 207,197 A38,216
01 B 161,636 199,765 A3B,129
O=uZR+
11,3192 «34H *35A| 2H+ 122 161,636
03 BRA(RI|H) 222 7,345 7,432 A8
O&HXl2te| 2UHY 4,924
OAIZte| =Y
20,5153 +2F *10A| 2++ 122 4,924
O 2te| 2,421
OAIZte =g
20, 1713 *1B*10A1 2++ 122 2,421
JlE2a| 97,712 128,936 A31,224
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2N

X ZH -
o=

ol 2 A
A2 AH| (5] IIRIRA!)

OO L OO —e=

g9l Jl=a (sl 89
SA - B O9i(82) - HRAR - BaS Ol & e HImS2t
J23dI(soela4l) 97,712 128,936 A31,224

201 L2 3| 46,632 63,296 A 16,664
01 AtR2tel| 46,632 63,296 216,664
Oget+=ZH| 29,310,000& 14! 29,310
O=&Hl 13,056,000& * 14 13,056
(©FIpNy= 4,266,000& * 14 4,266
202 Ot 39,200 53,300 A14,100
01 =UGiBI 39,200 53,300 214,100
OYRFA& Jl=0H| 39,200,000& x14! 39,200
203 PR =] 11,880 12,340 A460
01 J|22H AR FEH| 6,600 7,000 A400
OJ|2H2I AR =] 6,600,000 * 14 6,600
04 RA2LYRFAHI 5,280 5,340 AB0
ORA2ILR =&
440,000 12002 5,280
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